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Instruction manual
AC Outlet Cable 0T01 -KPM

This AC outlet cable is connected to the KPM series for use. It enables you to measure the EUT just by connecting the EUT to the
outlet. This makes it easy to wire the measurement circuit.

Before using this outlet, thoroughly read the user's manual of the KPM series.

Name and features

AC outlet cable Safety terminal adapter, lead with crimping terminal,

Plug-end and outlet-end wires with crimping terminals, 1 each

Connection

There are two ways to connect this product to the KPM series.
» Connect the voltage input terminals to the load side (measurement circuit 1)
¢ Connect the current input terminals to the load side (measurement circuit 2)

The following figure shows how to connect this product to a KPM1000 for the measurement circuit 1 configuration.

Possible electric shock.

/\WARNING
 Turn off the AC power source that will supply power to the measurement circuit. Be sure to remove the

power cord from the outlet, or turn off the distribution switch that is connected to the power cord.

Measurement circuit 1 configurationl

KPM1000

Current input terminals
+ terminal
| terminal

Plug-end wire with crimping terminal (red)

Outlet-end wire with crimping terminal (white)

Example of power loss that occurs in the measurement circuit

The effect of input impedance may become large depending on the measured voltage or measured current. Select a
measurement circuit that will minimize the input impedance.

. *
Measurement Power loss that occurs during power measurement '

circuit Measurement of 100 V and 50 mA Measurement of 100 V and 20 A

1 Loss= (100 [V)? / 6 [MQ] = 0.00167 [VA] Same as left

2 Loss= (50 [mA])*x 2 [mQ] = 0.005 [mVA] Loss= (20 [A)*x 2 [mQ] = 0.8 [VA]
*1. 2mQ current input terminal input resistance. 6 MQ voltage input terminal input resistance.

In the measurement of 100 V and 50 mA, connecting the current input terminal to the load (measurement circuit 2) results in
smaller power loss, which provides the most accurate measurements.

In the measurement of 100 V and 20 A, connecting the voltage input terminal to the load (measurement circuit 1) results in
smaller power loss, which provides the most accurate measurements.



B Measurement circuits 1 and 2

Measurement
circuit 1

O =

B Wiring of measurement circuit 1

« Wire number 1:

« Wire number 2:

« Wire number 3:

« Wire number 4:

Connect the plug-end wire with a crimp terminal (red) to current input terminal | on the KPM series power meter.

Connect the outlet-end wire with a crimp terminal (white) to the current input + terminal on the KPM series power
meter.

Connect the wire with a safety terminal adapter to the voltage input + terminal on the KPM series power meter.

Use the supplied lead wire to connect this product's voltage input terminal U to the current input + terminal on the
KPM series power meter.

B Wiring of measurement circuit 2

« Wire number 1:
« Wire number 2:
« Wire number 3:

« Wire number 4:

Use the same wiring as measurement circuit 1.
Use the same wiring as measurement circuit 1.
Use the same wiring as measurement circuit 1.

Use the supplied lead wire to connect this product's voltage input terminal U to the current input terminal | on the KPM
series power meter.

Specifications
Item Specification
Maximum operating voltage 125 Vrms
Maximum operating current 15 Arms
Installation location Indoors, 2000 m or less

Environmental

Operating temperature

- 0 °C to +40 °C, 20 %rh to 80 %rh (no condensation)
and humidity ranges

conditions
zazri%?msi;t:s -20 °C to +70 °C, 90 %rh or less (no condensation)
Withstand voltage Between the AC input and the chassis: 1350 Vac for 1 minute
Insulation resistance Between the AC input and the chassis at 500 Vdc: 100 MQ or higher
Earth continuity 0.1 Q or less at 25 Aac
Cable Length Approx.2.8 m
Dimensions
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